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CHAPTER 1
@ A 1078 number of reoﬂe with rersonalif;c: ,
bacl(iraumls , etc. similar 4o Ralrh’s should be

exposed to an identical situation in which

-U\ef{ is Possil;fe . The fméion ?f those that stedl
in relation to the whole would jive some meoni

in the relative f"’f“"’? sense onb« -— ¢o tze
fl)mse 'Ra’rh is possibly quilty of theft.”.
possitly gty of thef
@ Note tHhot- D —>é Lu‘l‘ 3 —> D
e, D MV'&\QS 3 bt ot te ofien

(,uo-na/ cuomol. quus (_(Q we +ovrn ouver
?

Covd 2 owd ﬁxucl o 3. So cohat

T+ wat wnetey <taled He a 3 —=F.

Li Eewi&—t wc%\ cavd. 3. On +He othar

h and ’{f we fora ouer card +

. b role
L ped a 3, tlen
and Ao 7£ N 4 dem
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&

The U ber 076 7Zavora“e OUVLCOMGJ‘
/S four: :2J4_/ 6, 8. Tle -{_OJ_&[ numbey

OF ou‘/‘CoM?S (< 9. H[ewce

p [ Q.VQV\} = 4‘/3

Tle ke QSSUMF{M‘)\A: o\l outcores equall
li%el*a_a A a\

Ja Nl |
U/

WQV‘Q onve. &3_——_8 OU‘)‘COMQS.‘ HHH
HHD @@ HTT THT TTH

17T The circled outcomes ave Heo dasi-

red cuewts. Hewce
P [ aheads, thail]= 3/8.

Ao
)

The ()OSS(H{ odtcores  are.

a =z 3|
12 @ 32
13 23

The C)rc[@a) OU‘!LCOMQS ore wheuw Heo same
boll 1s drown Twice . Heuce

P[éﬂo\w\v\ca_ ball 'Hfuicel: g/q :,13.“
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Let b,, b, -, b rerréseni‘ the six balls. Then

0= { bby, biby, biby, bbs , b b, }aL:,b:L;,LaLA.ba&s,Lalx,
bgLr. b;ba: bsbé. st;, b:l’(, 545., bAbA.hbs, &é‘&b{,&bh
beb, bsh, beby, bsbe, b, beby, beby. by bu, bebs |

If the f:rst‘ ball is reﬂacer{ Lefon the second draw
en

-Q;'-Q,U {LOLI, L.}Ll, bsl)hb‘&, &’85, L‘LJ ;

a»
Let /1,,, = height of man , /"w = height o woman TZm
a) 2= [ by, by Zhwé, hv>e 4 f

b) E= [ hu,hw : hm>o, hy>o , }’H(AW}
HF

To shorten the notation, the event af a’ram’n; a
ball with the number ¢ will be denoted as ¢. Then

0= (12,00}, E<f1,2,3,45}, F:{a4.56178}
Thus :

ES=[6T89.10}, F= {123,910}

EF=14,8), EUF ={12,3.45.6 78}
EFS=11.3,3} , £SF=J¢, T8}, EUF%[1,3,67,89/0}
(EFIVEF)=102,3,678) , EF)UCEF) = [4,5.9./0}
(EUF) = [f.10} (EF)<[1,23,&T 890}
wluere .

ES- [c/mm'? a bafl/yem‘cr fhan 4}

F<: [ Jmm’% a ball net /n te rasge £-8 inclusive |
EF=[a/ram'n/ Qa ball/ren‘er than 3 but no/rca-(‘er
than 5 |

TA? oﬂer events are S'flf//d’j/ a’rgcr/’lec/ -
St
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For 'Hﬁs exferimen*f' ) a” Possi“e outcomes are

I 21 31 41 5|
12 22 32 42 52

13 23 33 43 353
14 24 34 A4 54

15 25 35 45 &5

There are &x5 =26 Fnsib'i*a‘os . Thefavane
outcomes are 4 (1,4).(23), (3,2, 14,1) 5o P> ik
is indeed correct . ‘

"Dim” ijnorecl the fzcw‘: that ( P s J.fferem‘ ﬁom
(J’,i)) iLe. , the oufcome (2,3) is distinct from (3,2),
" Dense” ?noreJ ‘He‘fad’ that the 7 clfsfu‘?uisl\a“e

outcomes are not ﬂv Iikel .
?—;:v‘- /

a) NUP=0 O¢=¢

Hence PIQU®) = P(0)+ P($) =Py=1
Therefare P)= 1-Ploy=o0
b) E=EFUVEF (EFINCEF) = ¢
Hence P(E)=P(EF)tPLEF) or
PLEF) = P(E)-P(EF)
C)EUES=n EE“=¢ PEIPE)-P@Q)-1
e
@ EOF=EF UFE® ; but (EFYN(FE=¢
Hence P(E®F)= P(EF)+PIFES)
e
Q12D PEFY = PCEI-PEF]  and
P (FE) = P(FI-P(EF)

Hence PLE®FJ) = PLEI+P(F) -2 PLEF)
e~
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@j(&)‘::r S‘MP\‘\C‘.%Z' assfoceda  an -Po“ows:
Cal =1, =2, qoct = \gq =
Coml:"-s o_;ale) 2;,4;&;3) P e & <?>
{1}{2); (3B} (v} {va}; {va); {23} &4 24
{1;2)4}) {\,2,3}; {\,3,4}; {2,3,4}; {\,z, 3)4.}5 ¢ .

Nste ot {1)z}= {1} U{Z} amd o
P0AY]- PTEH+ PLE]- PR

But P[{2} 1= o. Hheve gore Al 1]=09-a¢
= 04

P[{34}]= o1= P[{«Y+ P[{z}]
= oos+ P[{3H]

TLE\N (,of{ P[{ 3'}'1 = 0.05} P ({{kl': oS
P[{4}1= 0.05 P[{i}]:o.q-. P These
p\m\oa.\g\\t\-\'e: L2 Cow Cot puLe o.\\ oﬂw‘

PYO\OQ\OJ\L\EJ US!‘V\(X PCAUB}: P[Al-l— P[&]
it AnB=cb. For examgl P[} 1341]

= PUay]+ Pl Lsh1+ P[{s1]

= 04 4 005+ 0065 = O.5.
Tle umiev-(xl'mc\ ex\aevlnen+ asSumes e awimalg

ave ik s-e(mmk conteved caqec ownd o

Caqe '8 clasan o+ randew .
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(b)  We Conmit wae Tk £/ /b eved freld of
pa-t (&) bLecovse we have /ess kmlal}//'b

/.n'ﬁrm ’A/ﬁoib no u.
‘}:25\/ Qxa..r}e Wl Cen /é’/?{‘&rmné

Plgesty]= P [{c&t)dogg - {doﬂj
= P {eat,dog}| - PT1dog}]

= 0.9-0.5
:,O.L{ 3

L\f"_ we ComnoT C/&ﬁf»'/n{
P[{P.ﬁﬂ ) W how 22 WLD

@)v@« P[{gw@piﬂl 2-d Theee (8 no
Oﬂef velev an L )'n'gr»-l}é&m. Thee wusT Ao

Spec'.& c(j a ProszL)lt‘b "Gw % (’/ueﬁt\

So we defee a ’&&lal o jvr'll % Cve ST
’f"ﬁe%}us %60&76) j’lﬁk 2. & s;,}j/eﬁm oV e/&m,:nfa.b
tred . (Js.‘«jﬂm W\a‘o*ﬂl‘nj evet — ¥

£ row perf (4_)_) Wwe havey

37:{ Y {z\j') 12 3{3,»1} s {1,3,»%
{z,z,w} v $1,2,3,4Y 5 ¢ k'

and eack evet ha a pro Laé)/if\q.
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The composition of the urn is:

P[A]=6/8; P[B]=6/8 P[AB]ZHab/I{T:4/8 is not equal to P[A]P[B]=9/16
Therefore A and B are not independent.

f y

(

OO0

—F—
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@ Let n,, 1=1,2 Ceprsewt e
cuvtcome o The, Tth toss Siuce

‘\"\\k ‘\'OSSQS o< \V\depe\mde\r\'\‘:
Pl,nd= PhIPhd= &

P a+nat]n=z]~ P [nzeln=3]
= P[V)‘=31P[‘_{\2_=4-1

7QUL_ P=3) =—'6—@
C/eo\r%t
PlAl= &
plB[= 2= 4
PLAB]= P{ picking ove op fwo red aces
n 52 Covdsy = é—

T<  ppel Pl Pl

2 % 4 n \
—_— = —_— X —
52 52 2 7%

HQVLCQ A av\cL B ore \V\OLLPQ\/\A-QV\‘{"

~ |
\J
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@ All PossiUe outcomes are jiven below :

20 31 41--- 9
12 22 32 - -- 72

I3 23 ¢ ' 81 possible
14 ! : ' outcomes,
' \ '

N )

1?9 29 - - - 7%

To cet Z:=T, we need one of the ](ollow:? ocutcomes:
€1, 82,43,34,25,16, Thus “there 6 wa/s yjcﬁuy
Z:=T. Hence

P(ZT)Zodd)= BEETZ0dd) _ PL27T)

P(Zodd) = P(Zodd)
The oﬁv unknown is P(Zodd) . Out of 8| cutcomes,

" 40 produce odd X ,4] even. Thus

P(=T|Z odd) =73‘7/-§-§— - 015

Now we want +o comru{e
P(at least one of N, N ZTIZ>10)2P".
We can write

p': Plat [east one of N Ni > T, Z>/0)
P(=z >/0)

Frim the tble , P(X>/0) =36 /81 . It is easy
4o see fnm the +tuble that e an/lv ways
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M+N, * Z>/0 and both N, ,M; ST are 'Hhefo//wln
Z=ll=6+8 =546 = 7+4 24177 Z=laz S+ T+5 2646,
Z=213=6+T=7T+6 , Z=/4=T+T, that is, +he 3¢

miUe outcomes are reduced b' /o and

P(at least one 7'//,'/\6‘77.’7/0) = —%76_-

Hente'.r "y

36781 - oTe.
Fimy to comfu{e

Pl(Zodd . N> 8)
(Todd| N>8) = !
P I N>8) PN >8)

We know that PN >8)= P(NM>9)= /2, Alse from
the +eble we see that the event | Zodd ,Aj= 9}

an 'uffen as follows : 9+2 , 974, 9+6, $+8 .
Thus P(Zodd ,N;>8) = 4/81 . Hence

P(ZoddIN>8) = 5L =4 = 044

/81



https://ebookyab.ir/solution-manual-probability-and-random-processes-stark-woods/

